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(b}  Give two mx@w why claszification is imporiant {2 marks)
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i {a} C%la? :s ihe Tormula for caleulating linear magnification of o specimen when wing 2
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0\ Q {p}  Give g resson why sluiming is necessary when prepanng specimens fos ebservation
N under ihe microscops, {1 mark)
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3 Piant cells do not burst when immersed in distilied waier, Explaia. i3 kel
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4 State three functions of Golgl eppartus. {3 marks)
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5 Distinguish between diffusion and osmosis. {2 marks}
& Describe what happens during ihe light stage of photosynthesis. {3 miarks)
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The dgragram below represenis a section {iﬁmugh a human toolh.

f1 mark)
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@\\ (i)  Give a reason [or vour unswer i {4) (i) above, {1 mark)
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(ti State the functions of the structires found in the part labelled J. (2 marks;

3 (a)  Name a fat soluble vitamin manufactured by the human body. {1 mark}
{h)  State twe functions of potassium ione in the human body. (2 marks)
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9 Siate two ways in which the root hairs are adapied to their function, (2 marks)
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1 The diagram below represents o plant lissue. &6

4
=
i -
{1 meark)

Q@ W Numeine cells Iabelled ¥ and L., (2 marks)

{c) Wihat ix the function of (e companion ceii? {1 mark:

i (@}  Wihai prevents bload in veins from fowing backwards? (1 nwarks

it} Stue twa ways in which the red bloed celis are adapted to their fonction, {2 marks)
i2 () Mame twe sirucivres for gaseous exchange in aquatic plants, {2 marks)
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{&)  What is the effect of coniraction of the diaphragm muscles during breaihing in
mammais? {3 marks}
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(4)  Name the products of :maemhir\.‘espiratiun in

{1) piants vi\

,0(\
fii)  animalse, {1 mark)
Q\
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N
{h) at Qoxygen debt? 1 mark)
NIOY

Qg’&: ........................................................................................... R T

éﬁ)&\ What i the meuning of the following terms:
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< (;(\ {i} homeostasis {i mark)
ae'. O)
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@\\ RS A B M A AT SRR SR s aasagsssrnen s el
QO\ \Q‘ (ii}  osmoregulation? (1 mark)
S e ———————————————
by Name the hormones involved in regulating glucose level in bleod. {2 marks)
15 (a)  Distinguish between population and community. (2 marks}
{hy  Name 1 method that could be used to estimate the population size of the following
OTEATISITS:
{(iv fish in a pond (1 murk)
{ii)  Black jack in a garden. {1 mark)
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i Siale $wo ways in which schisiosowa species is Q&ptﬁd 10 parasitic mode of life.
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17 The diagram below represents E%mge during cell division.
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) () idestify the stage of coll division,
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iy Give three reasons Tor your answer in (@} (i) sbove, (2 murks)
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th)  Name the siruciures labeiled M, £ mark)
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i8 Stte iwe disadvantages of sexual reproduction in animals.

T TR Ay 1

% {a) Stute twa environmenial condilions ihai can cause seed dormancy. (2 marks)
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(h)  Name the part of a bean seed thai elongates (o bring about epigeal germination.
{1 mark)
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Explain imv&'\tﬁ% following occur during gene muiation:
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(h)

. inversion.
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What is a test-cross?
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28 {a}  What is adapiive radiation? (2 marks}
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(by  Give a reason why organisms become resistant 1o drugs.
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22 {a)  Where in the human body are relay n@n&s found? (1 mark)
\
(b)
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(i} Name the neurone. {1 mark}

(iiy  Name the parts lubelicd P and Q. {2 marks}
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() State a function of myelin sheath, (1 mark)
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23 {a} Nume the kormone thi is @msih!c for apical dominanve. {! mark)
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thi What is lhigmmr&ii?m‘? {1 murk)
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24 {u) State Q‘H&%&czcrinlic that is common io ail cervical vertebrae. {1 mark)
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(b QS Nmic two tissues in planis tha provide mechanical support. {2 marks)
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,\25 () Te sction of ptyslin stops at the siomach. Explain, {1 mark)
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(b} State a factor that desatures ENTYTHES. {1 muark)
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fe}  Manw the features thiai increuse the surface area of small intestines, (2 marks)
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26 State one way hy which BIV/AIDS is transmiiied from mother to child, (1 maik)
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